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NEW QUESTION 1
A document that outlines the scope of a project, specific deliverables, scheduling, and additional specific details from the client/buyer is called a:

A. statement of work.

B. standard operating procedure.
C. master service document.

D. service level agreement.

Answer: D

NEW QUESTION 2
A web application was deployed, and files are available globally to improve user experience. Which of the following technologies is being used?

A. SAN
B. CDN
C. vDI
D. API

Answer: B

NEW QUESTION 3
Volume, variety, velocity, and veracity are the four characteristics of:

A. machine learning.

B. Big Data.

C. microservice design.
D. blockchain.

E. object storage.

Answer: B

NEW QUESTION 4
A business analyst is drafting a risk assessment.
Which of the following components should be included in the draft? (Choose two.)

A. Asset management
B. Database type

C. Encryption algorithms
D. Certificate name

E. Asset inventory

F. Data classification

Answer: AF

NEW QUESTION 5
Which of the following is a cloud service model that organizations use when their third-party ERP tool is provided as a complete service?

A. Public cloud
B. SaaS
C. Hybrid cloud
D. laaS

Answer: B

NEW QUESTION 6
A cloud administrator suggested using spot instances to reduce cloud costs for part of a new cloud infrastructure.
Which of the following conditions must be addressed by the application that will run on these instances?

A. The application needs to store data in a database.

B. There is a restriction for distributed network communications.

C. The application needs to handle unpredictable instance termination.
D. Resource-intensive compute loads will be forbidden.

Answer: C

NEW QUESTION 7

An organization wants to migrate a locally hosted application to a PaaS model. The application currently runs on a 15-year-old operating system and cannot be
upgraded.

Which of the following should the organization perform to ensure the application will be supported in the cloud?

A. Risk register

B. Feasibility study
C. Benchmarks

D. Baseline
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Answer: B

NEW QUESTION 8
A developer is leveraging a public cloud service provider to provision servers using the templates created by the company's cloud engineer.
Which of the following does this BEST describe?

A. Subscription services

B. Containerization

C. User self-service

D. Autonomous environments

Answer: C

NEW QUESTION 9
Following a risk assessment, a company decides to adopt a multicloud strategy for its IT applications.
Which of the following is the company trying to avoid as part of its risk mitigation strategy?

A. Geo-redundancy
B. Vendor lock-in
C. High availability
D. Data sovereignty

Answer: B

NEW QUESTION 10
A human resources department is considering a SaaS-based human resources portal and requires
a risk analysis. Which of the following are requirements to consider? (Choose two.)

A. Support

B. Threats

C. Chargebacks
D. Vulnerabilities
E. Maintenance

F. Gap analysis

Answer: AD

NEW QUESTION 10
A company is in its second year of a three-year agreement with a cloud vendor. After the initial phase of the cloud migration, resource consumption has stabilized.
Which of the following would help the company reduce the cost of infrastructure?

A. Reserved instances

B. Pay-as-you-go

C. Spot instances

D. Bring your own license

Answer: A

NEW QUESTION 13
A project manager must inform the Chief Information Officer (ClO) of the additional resources necessary to migrate services to the cloud successfully.
Which of the following cloud assessments would be MOST appropriate to use for the recommendation?

A. Feasibility study

B. Gap analysis

C. Future requirements
D. Baseline report

Answer: B

NEW QUESTION 18

A report identified that several of a company's SaaS applications are against corporate policy.
Which of the following is the MOST likely reason for this issue?

A. Shadow IT

B. Sensitive data

C. Encryption

D. Vendor lock-in

Answer: B

NEW QUESTION 20

A company with critical resources in the cloud needs to ensure data is available in multiple datacenters around the world.

Which of the following BEST meets the company's needs?

A. Auto-scaling
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B. Geo-redundancy
C. Disaster recovery
D. High availability

Answer: B

NEW QUESTION 22

A company is migrating a legacy application to the cloud. Two C-level executives are currently engaged in the initial stages of the migration, and they are planning
a rip-and-replace approach.

Before initiating the project, the FIRST step should be to identify:

A. the required network performance.
B. the key stakeholders.

C. the desired CSP.

D. the required cloud services.

E. the required amount of storage.

Answer: CD

NEW QUESTION 25

A cloud administrator configures a server to insert an entry into a log file whenever an administrator logs in to the server remotely. Which of the following BEST
describes the type of

policy being used?

A. Audit

B. Authorization
C. Hardening

D. Access

Answer: A

NEW QUESTION 30
A cloud systems administrator needs to log in to a remote Linux server that is hosted in a public cloud. Which of the following protocols will the administrator
MOST likely use?

A.HTTPS

B. RDP

C. Secure Shell

D. Virtual network computing

Answer: C

NEW QUESTION 34
Which of the following would BEST provide access to a Windows VDI?

A. RDP
B. VPN
C. SSH
D. HTTPS

Answer: A

NEW QUESTION 37
Which of the following technologies would help a game company prepare its cloud infrastructure to support a global distribution workload of a newly released
online game? (Choose two.)

A. Auto-scaling

B. VDI

C. Data portability
D. CDN

E. Templates

F. Blockchain

Answer: AD

NEW QUESTION 42

Which of the following types of risk is MOST likely to be associated with moving all data to one cloud provider?
A. Vendor lock-in

B. Data portability

C. Network connectivity

D. Data sovereignty

Answer: A

NEW QUESTION 47
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Which of the following techniques helps an organization determine benchmarks for application performance within a set of resources?

A. Auto-scaling
B. Load testing
C. Sandboxing
D. Regression testing

Answer: B

NEW QUESTION 51
An incident response team requires documentation for an email phishing campaign against a company's email server. Which of the following is the BEST resource
to use to start the investigation?

A. Audit and system logs

B. Change management procedures
C. Departmental policies

D. Standard operating procedures

Answer: A

NEW QUESTION 54
When designing a new cloud-enabled application, an organization that is considering RTO and RPO is MOST likely concerned about:

A. redundancy.

B. load balancing.
C. disaster recovery.
D. high availability.

Answer: C

NEW QUESTION 57
Which of the following BEST explains the concept of RTOs for restoring servers to operational use?

A. To reduce the amount of data loss that can occur in the event of a server failure

B. To ensure the restored server is available and operational within a given window of time
C. To ensure the data on the restored server is current within a given window of time

D. To reduce the amount of time a particular server is unavailable and offline

Answer: B

NEW QUESTION 61
A requirement states that an application must be restored within six hours. Which of the following should be included in the SLA to satisfy this requirement?

A. MTTR
B. RPO
C. ROI
D.RTO

Answer: D

NEW QUESTION 66
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